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Translation in which all levels of SL text are replaced by TL materials is called -----------.

Full Total Restricted Partial
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1. 2. 3. 4.
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The use of the past tense in relation to an immediate situation is illustrated by the sentence: 

Did you lock the front door?
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Did you lock the front door?
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Newmark’s communicative translation is equivalent to Catford’s ----------- translation.

Literal Free Restricted Total
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1. 2. 3. 4.

Which type of the following texts should be translated semantically?

Reports Non-literary texts

Propaganda Religious texts
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3. 4.
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The more the number of the ----------common to both SL and TL sentences, the better the

translation.

Linguistical features Situational features

Functional features Distinctive situational features
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1. 2.

3. 4.
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What kind of semantic relationship can be found in the following words?

"Car, bus and truck"

Co-hyponymy Antonymy Incompatibility Converseness
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1. 2. 3. 4.
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We are interested in football.
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Determine the non-idiomatic collocations in the following sentence:

"The nurse was looking after the patient."

Was looking Looking after

Looking after the patient Was looking after
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1. 2.

3. 4.

--------- meaning is that which a piece of language coveys about the social circumstances of its use.

Connotative Referential Affective Stylistic
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They chucked a stone at the cops and then did a bunk with the loot.
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Determine the figurative meaning of following word in Persian and English respectively:

Bull

Courage, stupidity Stupidity, endurance

Strength, courage Wisdom, endurance
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1. 2.

3. 4.

Fill the blank with the appropriate word.

--------- fruit : ;��= D��1

Rancid Addled Rotten Corrupt
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1. 2. 3. 4.

Which one cannot be included in the complement group in a sentence?

Noun Verb Adjective Adverb
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1. 2. 3. 4.

The lecturer to be invited
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The lecturer is to be invited The lecturer which is to be invited

The lecturer is invited The lecturer who will be invited
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Find the best translation for the following sentence:

Boys are seldom trained to follow their father’s occupation.
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Which one is not correct?

Different languages may differ in terms of the type of their structural elements.

It’s possible that parallel elements (e.g. passive voice in English and Majhul in Farsi) differ in terms

of their communicative values.

Structure-for-structure translation is always acceptable because SL structures and their TL parallel

ones have the same communicative value.

Structure-for-structure translation is the replacement of SL structure by their parallel TL ones.

27-

1.

2.

3.

4.

 #i  ��JK ��� ���K �� ����1�� # �� D�#�j1 O���� ��k O���� ��� �KU�# 22222222222;��@ �1 ��;��H.

ModeRegisterStyleIdiolect

28

'���

-

....

B;<> I�> 9 �01 �� l;�1 :01 S�mP1 n�� �� ;���! �1 ����= �� �-��.�� �� �! �� ��/ ��� �1�� 
bc /� I� S�;>

��
�( [� ��
� $L# �+�J�� ��  C�
8 ��
�(�� ��
� $L#

 C�
8 ��  �+�J�� ��
�(�� ��
� $L# XXA& ��
� $L#

29

'�

��

-

..

..

B��@ �1 D��P0�� ;�;  9���P1 ���� ;�;  ����> :0N�� "#� /� ��/ ����> /� I� S�;> �� �! ��

Micro-chipPre-supposi1onPhoneticsThermometer

30

'���

-

....

4   از 4  صفحه  93-1392  نيمسال اول   '*'*/'*'*',d,5 

WWW.PLC20.IR


